Do Now: From Exercise Set B #s 21 and 26
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The Pythagorean Identities
sin’@+cos’ 0 =1
tan’ 0 +1=sec’ 0
cot? @ +1=csc? 6’}

You are familiar with the following reciprocal identities:
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Name: Date:
PC: Reciprocal Trig Functions Ms. Loughran

Each of the basic trigonometric functions has a corresponding reciprocal function. The
secant function (sec) is the reciprocal of the cosine function, the cosecant function (csc)
is the reciprocal of the sine function, and the cotangent function (cot) is the reciprocal of
the tangent function.
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1. Name the quadrant in which Z4 must lie if sec 4 >0 and csc 4 <0.
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Exercises

Exercises 4-10: Find the exact value of each ex-
pression.
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Homework 03-18
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